Math Y12 D

Tho Tha Fromola rzm—rmy(“fixﬂmj NI
ook AVitws Il “:a\\ow\wy o ?m'»u’hq oW
(RQ\> \"/bé RN (?\ )3 J é/\f ST\, ow\;u«j R ;‘? ,b\ o ’\7«])8

1S r\xv\amv‘jj

(RRLD VvV De a\:\,ir‘l“P\J vt et D] ad W-D\ A «JUW

L<Ah “ﬂ w bl y\mw%

[aeh Y <P91>@ P(K\Ejv\‘

P‘FJ& “Y\wx.//=>) §M‘K (R@ o\ T4 0\43])—.—‘3‘,[) Flan,
RO by ~(D) = (D). The, ) Hlles. We mav (lo

(RR\) Aollows . T§ Ie N b



= (V)= (Ds9-D)2 ) *e(a-D)

e

L, [Dl#d 2 r)202 co-p)--l = |v-b|=¢
for M ve Vo S A S B sl Hed (RE)
PRI NS {DlsgfﬁJﬁJ@/\f 4. [v-D\ 4 ¢

Cqpre A Dd ad pl=d We wdd bk 4 f
C20 wth € ~v-D & anm \76/\(; 1<, £20 s
thd dg(E0) gl ek (€)=, Sepun Thn

s re Swdn £ Theedws, fe ol E2 0 vk J\‘jE: .
vt ket (E*DY2 0. @j (RRY , w (1,:&

r((</D~€) = v (€+D) '\'ale(E*’ 0)+ \'3 = ~(E«H) =0 .



H follaa thE (kD) = g-l-d, wrhen, Lj (RRY,
~(D) = (X-DY =+ OKXT)D N (‘3 F r()“l-'o\ +A+l~3 =
Y% (D] #F¢, a cdmdidhion.

E) Now smppe RR) ek ®RRZY) MU
L{,mww\ (RQ\B I:nﬁ,w\

r(D) = min ?o\ﬂj(b \7\§ —

Vc/f
Y + N
\/Jr*'{i Ohj (\,92\; V\V'\/') \;ii\l‘. v .
PE/ Laker _

Buk # oo & dhns L D'~D ad S Vel By (Rr2),



®
thaet 35 @ bt NN (L) 2 by Eedy 9e e
: Sl SRV 131 [k-7) <¢ sma |vI1=¢ )

Thw  V-D'= K-D'-V s
4 4,3*(5’—\7\ -J{ (K-D)-3) = %*(b’—v) -Xw«j“' (v-D)
= 3\:3(1)5\7)
sabg(b—q) = AL_SDH/S.

New T D% ard v such Yodk o\ka* (D*~\>*\=Siﬂb ?JKAS(N-\?\EZF(D)
VeN
T by () -7 ) - d” (070 ) (gD +1-9) 2 dag (0¥ 9%

R SENNE S - (A4 (-9
I A SFCD)_(@%



c(R-D) % wmn
TR 2 YO
k:_O’—»d—D V'S
e 1y (0 7Y 3 2 iy (07 -vt) ol
Rt b | 5
oy Do el 72 T r(0) = @D x\rq) j i

= \ = K——\]Q’ 3 |

, Wt CAr LZ) ‘&"
4.1 the

-y
M%M“\%' D



